Geometry Mid-Year Test  Name

Study Guide Date: __ | _Block:
Toplc 1: Geometry Basics |
1. Use the diagram to the right to answer the quesﬂ;\ns below. '\V
a. Name nt: colli T. ‘ : *
a point collinear to points S and =D U T
b. Give ancther name for line 5. NS or V'w LR N\ P
c. Name a point non-coplanar to point R, 7, and U. \ (or V\D W\

2. Use the diagram to the right to answer the questions below.

b. Name 2 point coplanar to points F, X, and J. E ‘ .
¢ Are points E, J, and G coplanar? Explain. Nes ! Plang ET 6 is st ==k

E
a. Name the intersection of planes JKL and HGL. ML | b i’ K

Distance Formula: o Midpoint Formula:
‘ 1 X%z vz
- 2 A NVEY
OL"A‘O’\;"K.\ +(’U'L-Sh M: 2 J z /
'Use for questions 3-4: Given line segment 4B with endpoints 4(-1, 7) and B(11, -1)
3. Find the length of 4B . 4. Find the midpoint of 4B . -
- T\ 24 -1 2 | AL A1 My -H"I\) |

AT

-

MR D
A P L 2:%) =\(5.2)

5. A segment has a midpoint at (2, -7) and an 6. 1f X'is the midpoint of #Y , WX = 3x - 1 and 2z
endpoint at (8, -5). What are the coordinates WY = 10x - 26, find X7. I-—-t--l—\““

as= g+1)g-;. -'\:"%—‘-"3 -1
- = 3\~ -

Wegaxe | ™M~ 579z X WX =124

xze-4 | Yz=-9 W:t_:‘"‘ gl x=4

[ e

\OK =2 = XK —2

*—“\HO\;— 2o

7. Find the value of x. 8. IF mZLNK = (5 — 27) and mZKNM = (10x - 3,
12x - 18)5 find m2INM.
\ZX~1g = 5X+59 o | 15k %0 AW
X-1§ =59 Gex®) | 5K Z\D v
=17 X vV

TN e INME sU-21=




9. Find each missing measure.

,\143" .

= r
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4

y

‘x=- 32°

_yéﬂ
z=_32°

10, If QS bisects ZPOR, find m2PQR.

Yx~25= X+ y

(4x—25)° -
AX-25 = 7} "

= 32 . e (2x +7)°
X = il A

MIPRS = YlLIL)-25 =39
m<PQR- 234 =|)%°

11. ZR and 8 are complementary angles. If
mZR = (6x ~ 47) and m£S = (x + 4)", find
mcS.

(-1 + X H =90

12. £C and 2D are supplementary angles. If m<D

s nine less than twice mZC, find m<£D.
Lb“' X=mM< C
et 2-9= MmLD

TIx-43=90 | e
| IY=133 ‘K.'i"a—)f.-q-: \ _
X =19 3x-9q =1¢0 n\(D):C)
3x=1%€ AL3) =
m<S = 19+ = [23]] x:u:;? 117°]
Tople 2: Logic Stateménts
COmpoundStatgmems
Conjunction: [ D /\q ] Disjunction: [ P\[ 9 ]
¢ Read as p AND 4. o Readasp _OR 4.

« True when both statements are trué.

« True when at least one statement is true.

13. Use the statements below to determine the truth value of each compound statement.

p: Dallas is in Texas (T
g: Al birds can fiy LF)

r: Complementary angles are always congruent (¥

]b'P"qF: ——E— d. “gA~r: T

T P
a. pvnr T c. ";v; ~

T T T
Conditional Statements Read as "if p, then ¢”
Conditional: Inverse: Converse: Contrapositive:
(p~>a) | [p=~a) | (a=p]) | kg~




Use the following statements to write conditional statements. Determine the truth value.
_p: two angles are adjacent; g: they form a linear pair '

14, Conditional: __| £ 1w D anoﬂr_c are an’:mm—k +hrn

-H-\fu Rrm 4 [mra/ pair. )|
15. Inverse: I-P twi (ma}f_(’ Qrt Nt ad.acem +he n
they A ot fam a linear oai\f’ @k
16. Converse: _|-£ TWD Qngles fym 2 hhear palr, then
Shey Qv nmarm-f . GYF
17, Contraposttive: _| ¥ Wi angleS do not Bvim a
linear  pair, then thely Qre Nk el ent. T 1)
B-Conditionall: | by o0, P > if and bn Iu it Q RTYED

[ P Cl ] True when both conditional (p — q) and converse (g — p) are truel

Determine the truth value of the following bi-conditional statements:
18. Lines are perpendicular If and only If they intersect at a right arigle. __J'__ ‘

19. It is midnight If and only if it is dark outside. E

20. Triangles are congruent If and only if their corresponding parts are congrdent. T
. | -
Law of Detachment P . q Law of Syllogism P —3 c:i
Q= -
- 9 A e Sl

Determine whether the conclusion was made by the Law of Detachment or the Law of Syllogism.
If it's an invalid concusion, write “invalid”.

21, Given: If the kicker makes the field goal, then the team will win the game.
Given: If the team wins the game, then they will move on to the playoffs.
Conclusion: If the kicker makes the field goal, then the team will move on to the playoffs.

valid by: \Low of S\@\L\_)gism

22. Given: If a number is a natural number, then it Is a whole number.
Given: xis a whole number
Conclusion: x is a natural number

vandby: _\rwahd




23. Given: If an angle measures more than 90°, then it is obtuse
Given: m.P = 115"
Conclusion: <P is obtuse

Valid by:

24. Given: If Max gets an A on his Geometry exam, then he will pass the dlass.
Given: If Max does not get an A on his Geometry exam, then he will repeat the class.
Conclusion: If Max passes the class, then he will not repeat the class.

validby: Vv licl

Topic 3: Venn Diagrams
Draw a Venn diagram to represent each relationship. ‘
25, Some multiples of 3 are even | 26. All triangles are polygons. 27. No trapezolds are
numbgers ' parallelogtams
oot
me g

28. The Venn diagram below shows the number
of who went on certain ski trails on a recent 27 a :aol‘l’; many m'de"ts went down the Eagle
ski trip. .
j_b. How many students went down the Falcon
Eagle Falcon and North Wind tralls?
/5\ - | MD_e. How many students went down the Eagle or
ah Falcon trails?
_&d How many students went down ali three
v talls?
4 North Wind _aa_e. How many students went down the Falcon or
- North Wind trall, but not the Eagle trail?

Topic 4: Proof

Write the- letter of the property, definition, or postulate that jushfies each statement.
Gy 2. ¥ améqso then ZCBD a 24BC =

_E_30. FVW+ WY = ZY\andW+ WY = XZ, then XZ = ZV.- e fmﬁmw
¥ 34. 1f S's between R and T, theri RS-+ ST = RP~ E e P o
B 32 yJK+KL=MN+KL, then JK-= I . Substitution Property
W33, Ifmad = meC, andmzC = mD, then mA = MD\ T P ot < or e
_A 34.1P0 meT«ﬂn“é"n"PQ +RS=0OT + RS ] 1 T propey o - or
_F 35.mzI ZDEF = m£DEF 2. “Definition of Midpolnt
_(._36. If bXZ = XY, then XZ = 2XY {‘m ‘mm

T 37. Y msLMN = mZMNP, then ZLMN = ZMNP




Tople 5: Parallel & Perpendicular Lines
38. Use the diagram to the right to answer the questions belqw.

a. Name a plane parallel to plane DEFGH ~TKLM N
b. Name two segments parallel to GL _E\s,_E];j_NT H™M
c. Name a segment parallel to MN

d. Name a segment skew to £/ DO Tﬁj,EG‘NH,m,_R“L:.

39, Use the diagram below to name each pair of lines.
a. sland 28 __Plteimate Exiendy £'S _ /
5

b. z6and 27 sz_-fc; ﬁmu, lnHENo— 5,,5 o
c «£2and 24 ({)'m Spondine £l\l¢

d. s3and 26 __ IR Ina IA%W* g -

40. If I |{ m, find the measure of each missing angle.

amil= Qz° |emsS= G Lm= Ho°
b. ms2= 35‘ f. meb= | g9 |§ mll0= -q a°
cmi3= S Q_\ g ms7l = fé_gl k.mzll= @7 °
d mea= R |h mB= |3¢° (b ml2= q

41. 1f g || r, solve for x. | 42. If m || n, solve for x.

/[,
s
C"““"“’j""‘o XS+ EXCH = 16D &3
Ix-t==10 2%+ b = N0
=34 2x=114

| =0

43, Use the diagram to the right to answer the questions below.
Q
a. If mz1 = 84, what must be m.5 In order for a || 57 B
(] ; 0
b. 1f ms2 = 109°, what must be m«9 in order for a || c? }\
0]
¢ 1f ms5 = 68", what must be mz11 in order for b 1 c2__ o &

d. If ms3 = m£9, what converse proves a || ¢? ﬂﬁffﬁﬂ‘lﬁ__\_ﬁi_{. S a X

e. If m8 = m12, what converse proves b || ¢? ﬁ%—
f. If m<2 + msS = 180°, what converse proves a || b? ¢ AL

c




Topic é: Parallel & Perpendicular Lines in the Coordinate Plane

Stope Formula: __{\ < a.;-xf: Slope-Intercept Form: __{} < X+ b
Standard Form: __ (Y F‘B\JA =C__ Point-Slope Formula: Y-y = -
44, Describe the slopes of parallel lines: 45, Describe the slopes of perpendicular lines:
30me ! Negahve reciprcals |

486. Find the slope of the line on the graph.

1 *é__,_L
e | =

47. Find the slope of the line on the graph.

) - T

48. Find the slope of the line that contains the
points (-4, -13) and (8, 5).

49, Find the slope of the line that contains the
points (-2, 1) and-(-2, -9).

By = | '
s LE

M= 6__—+\3 =...\.§ :E‘ m:‘ﬂl‘—:" U\(\dc"
<+ e “a1>
50, Describe the lines below as parallel, 51. Describe the lines below as parallel,
perpendicular, or neither. perpendicular, or neither.
_§1+6yf;§audy=@c-1 _Z—Eyfzs amly@#i
=" —us- X2

J-B)s @

52. Write an equation of a line parallel to the line

53, Write an equation of a line perpendicular to
y =(2x + 8 and passes through the point nd passes through the
3 yyzemae ) B D g5 e et J
- s V] -
‘jig";":j Qe Yrg-x vl
_ & &7(,—5- | -3
Y= x5 J M) Jy="xr )]
Toplc 7: Triangles and Angles

54. Find the measure of each numbered angle.

msl = ﬂ I‘
mez=_\A°
m43=m

432

55. Find the value of x.

/‘>(f<ﬂ)'
POX+5=1¢D = a

asx=11s et

=7




56, Find m.<S. 2 No® 57. Find the value of x,
G -1 = 1% 5 |5 N\
;XL‘;-O '1- {Oxw 14) _)X’“5='l0¥-" L“ (2x+ 2
X =10 et —Ix~D=-Y)
' ~AXT—3b
\MLS = Q%ﬂ ]K.:: '\

Topic 8: Congruent Triangles

58. If AMBC = ADEF, solve for x and . A -y E T
.-

J~\1= 2} 6\:,-3’ 32 n_u
L =D DY= 29 32"
PED =

59, What are the methods to prove triangles are congruent?

SSS, sAS, ASR_ANAS, HL

60. Determine If the triangles below are congruent. If yes, state which method.

NN A Vs

i

I\D+5|xv @ SGS

Complete the proofs using the most appropriate method.

61. Given: K is the midpoint of JN and LM ’ M
Prove: AJKL = ANKM M
| L N
Statements Reasons
1. K is the midpoint of JN and LM 4 e—l'NCn
2. JK=KN ;1K = KM 2. Defn. of Mid paryt
3. LJKL = ZMKN 3. \Jerheal 4'_5
4. AJKL = ANKM . SAS




Prove: ADEF = AFGH E G
D&s’bﬁ”
Statements Reasons
1. DE|IGF,EF}|GH L AwWen |
2. ZEDF = Z/GFH ; LEFD = LGHF 2. (\,()YTf_’. SHDNdI'L]Q Jals
3. DF=FH 3. &iven -
4, ADEF = AFGH 4, ASA
63. Given: ZX bisects ZWXY, ZZWX = LZTX | | w o
Prove: AZWX = AZYX '
. , .
~ Statements . ' Reasons
1. ZX bisects ZWXY - 1% Gyuven
2, LWXZ = LYXZ |2 Detn. Df mgm Aiserh K -
3. LZWX = LZYX 3 ANen
4. Zx = 2% 4, gﬁ'fxlmﬂﬁﬂﬂy
5. AZWX = AZYX 5. PAS

—pary

64. Glven: A4DB and ACDB are right triangles, AB = BC

Prove: AADB = ACDB 4

c

Statements Reasons
1. A4DB and ACDB are right triangles 1. & VEN
2. Ij = B_C: 2. A N_‘ﬂ n
3. D5 = D5 . Reflexave. Property
4. AADB = ACDB . Hl




